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1 |10/24 A H TN 8 it P B 10/24 ((k) ~10/25 (K)
2 [ 10/24 e E T IR 11 Pl PHEH 10/24 (k) ~10/25 (UK)
3 | 10/24 e E H 20 A PASH 10/24 ((k) ~10/26 (K)
4 | 10/24 B BEERTER [ 11 A P A 10/24 (k) ~10/28 (1)
5 |[10/24 JEFE TN 8 S PH S 10/25 (k) ~10/27 (%)
6 | 10/24 (L =i IR 10 Pl PHEH 10/24 (k) ~10/26 (K)
7 | 10/24 =k IINFRRE 10 Sk PHEH 10/24 ((k) ~10/25 (K)
8 | 10/24 (L A i W 13 P PH EH 10/25 (k)
9 |10/24 i |2ot (Ekesg) 7 S PHEH 10/24 (k) ~10/26 (k)
10 | 10/24 Bt IR 10 SRk P EH 10/24 (k) ~10/25 (UK)
11 | 10/24 | (g8 M W 19 S PHEH 10/24 ((k) ~10/27 (4)
12 | 10/24 LR IR 7 A PR EH 10/24 (k) ~10/27 (42)
13 | 10/24 TR BEERRE | 12 A PHEH 10/24 ((k) ~10/25 (K)
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14 | 10/24 TR INFRR 1 A PHEH 10/25 (k) ~10/27 (&)
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15 | 10/24 TR TN 12 S PHEH 10/25 (k) ~10/27 (%)
16 | 10/24 R WA 36 “FAE B EH 10/24 (k) ~10/26 (K)
17 | 10/24 TR (2ot (Ek%) 5 Fik B 8 10/24 (k) ~10/26 ()
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